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November 9, 2005
100 points

PART I:
Problems:  Show all of your work, please.  (60 points)
5. What is the maximum amount that a firm should consider paying for a project that will return $15,000 annually for 5 years if the required return is 10%?  (5 pts)

PVA = 15,000 (1 – (1/(1 + .10)5)/.10


$56,861.80
6.
You just purchased a parcel of land for $10,000. If you expect a 12 percent annual rate of return on your investment, how much do you expect to sell the land for in 15 years?  (5 pts)



FV = 10,000 (1 + .12) 15


$54, 735.66

7.
What is the present value of $150 received at the beginning of each year for 16 years?  The first payment is received today. Use a discount rate of 9%.  (Note that this problem is an annuity due.)  (5 pts)



PVA = 150 ((1 – (1 + .09)16)/.09) (1 + .09)


$1,359.10
8.
How long in years will it take for $750 invested at 7.5% and compounded quarterly to be worth $1047.80?  (5 pts)



750 (1 + (.075/4))nm = 1047.80  or


4n = ln (1047.80/750)/ln(1 + (.075/4))  …. 4 quarters and thus this is compounded quarterly.



4n = 18  quarters – thus n = 4.5 years
9.
How much money must you pay into an account at the end of each of 5 years in order to have $5,000 at the end of the 5th year? Assume that the account pays 12%.  (5 pts)



FVA …  PMT = 5,000/ (((1 + .12)5 – 1)/.12)


$ 787.05

10.
How much money do I need to place into a bank account today, if the account pays a 6% rate, in order to have $500 at the end of 7 years?  (5 pts)



PV = 500/(1 + .06)7


$332.53
12.
What is the effective annual rate of 8% compounded daily? (Assume a 365 day year.)  


(4 pts)



EAR = (1 + (.08/365))365 - 1


EAR = .083  or 8.3%
